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SECTION A
Ql) Choose the correct alternative and fill in the blanks: (30 Marks)
l) Which of the folbwing statements on civil law systenx would be seen as an advantage by

bus iness'?

a) relevant areas of law are much easier to find than in comlnon law systems.

b) Civil lerw systems operatc in very fbw cottntries.
c) ltelcvant areas of law are lrore ditficult to fincl than in cor]rnon law systcrns.

d) Lawyers act as oral advocates fbr their clients.

2) 'l'ort law allows business to__.
a) Pursue fbreign suppliers who fail to deliver on
tr) Tal<e criunterfbiters of their
c) Trkc grievances tl-irough the
d) Reqluire the State to

-l) "A lctter of credit thal cannot cancelled without prior t-nutual consent of all
parties to the credit is

a) Revocabl. t ) f*"sferable c) Irevocable d) Non- Translbrablc

4) _ __ is a person enrployed by a Principal to make contracts on the principal's behall'rvitlr
'l hird l'arties.
a) An Exporter b) An Agent c) A distributer d) An irnporler

5) Why uright arbitration be an attractive option for settling disputes in intenrational tracle and

invcstr-r-rcnt cases.

a) lt is n-rore costly than going through national courts

b) Thc clecisior-rs of the arbitrator can be widely enforced

c) 'fhe proceedings are uade public
il) T'here is no right of appeal

0) Tlrc balance of exports and itttports of,goods is rclerred to as- 

- -.a) Current Accctunt b) Current Account balance

c) CLrrrent Account Deftcit d) Trade balance

7) Which one of the following is not a source of public intemational law'/

a) Treaties b) Conventions c) International Rusiness Contract d) Legislation

8) ltcgarcling the capacity of principal and agent, which one of the fbllowing stzrtements is NCT

true
a) A tr-rinor canuot cnter into a normal trading contract simply by employing an adult agent

or
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b) A rnentally disordered.person can appoint an agent to purchase necessariesc) An agcnt who lacks,fuil contractual'capacity c,ir only il,;; personally liable o, thosecontracls tl-rat he wourd have had capacity to make on his own beharf

:lt,ili;iffif 
act as an agent in a transaction which t 

" -out,t not have capacity ro enter inrcr

9) E.fi.C stands fbr

c) European Econontic center

l0) The headquarters of SAARC- in
a) f3angladesh b) Maldives
I l) The rnain prornoter of trade
a) GATT b) NAFTA

12) NAFTA stands for
a) North Afiican trade association
c) Northern Atlantic trade agreement

l3) 'fhe Gcncral
coLrntries, whose
AS

a) Trade embargos b) Trade restrictions

l4) _-carne into exrstence at conclusion of GATTa) UNACTAI) b) wTo

a)European Economics ClontroI

a)'I'he Sor"rth

b) Tlic South
c) The Sourh
d) Thc SoLrrh

b) European Economic Cornurunity
d) European Econornic Committee

t

c) SAARC d) rMF

d) KathnrandLr

agreement between rnany
trade barriers such

or quotas d) Sanctions

d)Free'frade Area

l5) Thc ntost complete form of economic integration isa) Econonric Inregration b) Coprnon;";?;;^"';j r-*a..1n;u,
l6) SAAITC srancls for

d) Tokyo

jl1":_t',.-lative i,rport restrictions that lirnit rhe quantiry of a producr being imporrccl is

1.7) 

- 
_is the headquarrer of the WTO.

a) Uruguay b) Geneva c) New york

a) Embargo b) quota c) Trade restrain

l9) An oral arbitration agreement

3] 
,.rruY be recognisecl at the aiscretio,rs ofTne arbitrarorsb) is not recogniscd as an arbitration agrc"rnent

d) imporr tariff

b) North American fi.ee trade agr"",.,r"nt
d) Northern association fbr trade

for Regional Cooperation
for Regional Cornpanies

Associtrtion fbr Regional Companies
Association for Rural Cooperation



c) r-nay be recognised depending upon the tbcts and circumstances of case to case.

d) rnay be recognised at the discretion of the parties

20) _ is the first step in the internationalization process.

a) I-icense b) Foreign Investment c) Sales d) Iixport

2l) 'l'he colnpany produces, markets, invests and operates across the world
b) h-rternational c) Transnational d) Multinationala) Gkrbal

22) IIIRD (Intemalional Bank for Reconstruction and Development) also known as_____.
a) Exirl Bank b) World t3ank c) International Monetary fund d) International Banl<

23) Intcllectual Propcrty rights protect the use of inforrnation and ideas that are ol

a) Social Value b) Moral Value c) CommercialValue d) Ethical ValLre

SCS

28) FEMA stands for'

a) First Exchange Vanagement Act b) Foreign Exchecluer Management Act
c) Foreign Exchange Management Act d) Foreign Evaluation Management Act

30) Upto what percentage can an NRI purchasc the paid up capital of trn Indian company'/
a) 5% b) 10% c) 15% d)20"1'

SECTION B

Q.2 Ansrver the lbllowing ( Any 1)

a) Examine the nature and complexities of International Business 1aw

b) What is the Letter of Credit? Explain and its different types.
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24) _ is representcd graphicaliy.
a) Iicensc b) trademark c) know how d)coplright

25) *- _ is the process of making information unintelligible to the unauthorizcd user.
a) Spoofing b) Snooping c) Sniffing d) Cryptography

27) Thc monctary penalty under FERS, was neariy tin-res the amoLlnt involved.
a) Three b)'l'wo c) Five d) Six

29) Internationai Char-nber of Commerce pron-rotes ___--_ancl the t-narl<et econoluy
a) International tradc b) International invcstment
c) International trade and investment system d) Financial Transaction



;

c) Write short notes on: i) GATT' ii) MNCs

Q.3 Answer the following ( Any 1)

a)

b)
c)

Q.4 Answer the following ( Any 1)

a)

b)

c)

Present the concept and international

Give the meaning
What are the
Institutional
Discuss role of

Q.s

a)

lr)

c)

Foreign
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(2 Hours)

NB: 1. All questions are compulsory.

2. Figures to the right indicate full marks.

Q.1 Choose the correct alternative and rewrite the statements

[Total Marks:60]

[30]

The dimension of e-commerce that enables commerce across national boundaries is

called 

-
a) Interactivity c) richness

b) global reach d) ubiquitY

\

2. Which of the following describes e-commerce

a) doing business electronically c)
b) sales ofgoods d)

doing business
sale ofservices

Data centric
Service oriented

C2Bs
C2Cs

a
J

4

5

7

8

9

FTP is built on architecture.
a) Client-server
b) P2P

c)
d)

Which of the following is not considered to be one of the three phases of
e-commerce?
a) Innovation c) Preservation
b) Consolidation d) Reinvention

6. The best product to sell in B2C e-commerce are:

a) Small products c) Digital products
b) Fresh Products d) Specialty products

Which segment do eBay, Amazon.com belong?
a) B2Bs c)
b) B2Cs d)

The solution for all business needs is
a) EDI c)
b) ERP d)

SCM
SAC

Which of the protocol is not used in the network layer of the TCP/IP model?
a)*-- fCMP c) IGMP
b) rP d) HTTP

is protocol attack done in the data link layer
a) HTTP c) TCP/P
b) DNS d) POP

I 0. Which of the following is not a strong security protocol?
a) HTTPS c) SMTP
b) ssl- d) sFrP



Paper / Subject Code: 85303 / Advanced Technology for e-Comm

11. EDI standards are
a) not universally available c) not required for B2B commerce
b) essential for B2B commerce d) still being evolved

12. Which e-business model allows consumers to name their own price for products and
services?
a) B2B c) B2G
b) czc d) c2B

13. The
a)

b)
URL
ULR

is a standard for specifring any kind of infbrmation on the Internet.
c) RLU
d) LUR

14. In a URL, the _ is the client-server program used to retrieve the document
a) path c) host
b) protocol d) ms-office

15. Availability of E-Commerce everywhere, at all times shows that it is
a) Ubiquitous c) Intense
b) Possess global reach d) Outward

16. E-infrastructure and E-markets are the basic components of _ e-commerce.
a) B2B c) Bzc
b) B2C d) c2c

t7 High levels of inflation affects E-commerce business that mainly deal with
a) Essential items c) Basic items
b) Luxurious items d) Modern items

18. The technological basis of e-commerce basically Web client/ server middlew.are is
called as _ tier architectures.
a) One c) Three
b) Two d) Four

19. Occurrence of new intermediates is called
a) Dis intermediation
b) Re-intermediation

c)
d)

Intermediation
Un-intermediation

20. E-commerce has _ scope than E-Business or Digital Business
a) Higher c) Namower
b) Wider d) More

21. All electronically mediated information exchanges are known as _a) E-Business c) Digital Business
b) E-Commerce d) Business
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1. All questions are compulsory

2. Figures to the right indicate full marks.

Q.1 Choose the correct altemative and rewrite the statements [30]

The dimension of e-commerce that enables commerce across national boundaries is
called _
a) Interactivity c) richness
b) global reach d) ubiquity

NB

1

2

J

4

5

6

Which of the following describes e-commerce
a) doing business eleckonically c)
b) sales ofgoods d)

doing business
sale ofsenrices

Data centric
Service oriented

C2Bs
C2Cs

SCM
SAC

FTP is built on architecture.
a) Client-seruer
b) PzP

c)
d)

Which of the following is not considered to be one of the three phases of
e-commerce?
a) Innovation c) Preservation
b) Consolidation d) Reinvention

The best product to sell in B2C e-commerce are:
a) Small products c) Digital products
b) Fresh Products d) Specialty products

Which segment do eBay, Amazon.com belong?
a) B2Bs c)
b) B2Cs d)

The solution for all business needs is
a) EDI c)
b) ERP d)

9

Which of the protocol is not used in the network layer of the TCP/IP rnodel?
a) -.. ICMP c) IGMP
b) rP d) HTrP

is protocol atlack done in the data link layer
a) HTTP c) TCP/IP
b) DNS d) PoP

10. Whi0h of the following is not a strong security protocol?
a) HTTPS c) SMTP
b) ssl. d) sFrP

7

8.
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22. are markets connected through modern communications networks and
powered by high-speed computers.
a) Marketplaces c) Electronic Markets
b) Metamarkets d) Electronic Network

23. is NOT an example of E-Commerce platform.
a) Amazon Pantry c) Flipkart plus
b) Reliance SMART d) DMarr Ready

24. refers to e-commerce transactions delivered via social media.
a) Social Network c) Social Business
b) Social E-commerce d) Social E-commerce and Social

Business

26. What layer in the TCP/IP stack is equivalent to the Transport layer of the OSI model?a) Application c) Internet
b) Host-to-Host d) NetworkAccess

25. ESN stands for
a) Erterprise Speciul Networks
b) Enterprise Social Networks

28

29

30

c) Entrepreneur Social Networks
d) Essential Social Networks

27. OLX is an example of _ E-commerce segment.
a) B2B c) B2Cb) czc d) czB

Choose the correct IaaS provider among the following.
a) EC2 c) Hybrid
b) ECl d) EC10

which of the following is used to read HTML code and to render webpage?a) Web Server c) V/eb Matrix
b) Web Browser d) Weboni

Choose among the following which is related to services provided by the cloud

B 5#,:t?, B #ii.,.,
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Q.3 Attempt any one subquestion form the following:

1. Explainfollowingterms:1) HTML 2) URL 3)HTTP
2. What are the four layers of TCP/IP Model?
3. Explain features of XML in detail

17.51

Q:4 Attempt any one subquestion form the following:

1. What is mobile computing?
2. What are the limitations of Mobile Computing?
3. Write short note on Mobile Commerce.

17.sl

17.51

Q.2 Attempt any one subquestion form the following:

1. What is E-Commerce? Give some potential benefits of E-commerce.
2. Explain terms: 1) E-Advertising 2) E-learning. 3) E-shopping.
3. Explain EDI with steps and advantages in detail.

Q.5Attempt any one subquestion form the following:

1. What are the new technologies for e-commerce?
2. Write short note on E-marketing strategies.

3. What is affiliate marketing?
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Q1 Choose the correct option (One Mark Each ) (30 Marks)

1. Which of the following is not a party of SCIVI?
a) suppliers b) manufacturers c) distributors d) customers2' e-commerce invoice the electronie faciliation facilitation of transaction

between customers through some third party.
a) C2C b) B2E c) B2B d) B2c

3. --_ is not a varid regal reason for processing information about an individual under the
European Union's data privacy directive

a) contract b) Legal obligation c) lvarketing needs d) consent
4. _industry is most direcily impacted by the provisions of the Gramm_Leach_Bliley Acta) Healthcare b) Banking c) Law enforcement d) Defense contractors
5. .- first required operators of federal interest computer systems to undergo periodic training
in computer security issues

a) Computer Security Act b) National lnfrastructure Protection Act c) Computer Fraud and
Abuse Act d) Erectronic communications privacy Act

6. A statefull firewall maintain a hich is a list of active connection
a) Routing tabre b) Bridging tabre c) state tabre d) connection tabre

7. A proxy firewall filters at_
a) Physical layer b) Data link layer c) Network layer d) Application layer

8' A communication is said to be insecure where data is transmitted in a manner that allows for
interception also called as_

a) Attack b)Sniffing c) ISp d)Citation
9. .- protocol is used to secure HTTP connection

a) Resource reservation protocol b) Transport layer security c) Xplicit congestion notification
(ECN) d) Stream control transmission protocol (SCTP)

10. lf-needed, a cryptosystem must be appried over the scheme.
a) lntegrity b) confidentiallty c) Nonrepudiation d) Authentication

11. _Al technique enables the computers to understand the associations and relationships
between objects and events

a) Pattern lVatching b) Cognitive Science c) Relative Symbolism d) Heuristic processing
12. compulsory License for export under lndian patents Act is for_

a) Nledicinal Plants b) Pharmaceutical Products c) Diagnostic kits required for their use d)
Clinical Trial Data

13' The responsibility of a certification authority for digital signature is to authenticate the_a) Hash function used b) Public keys of subscribers c) Key used in DES d) private keys of
subscribers

t
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14 _ is the challenge faced by lntellectual Property
a) Biodiversity b) Product c) lnternet d) Digitalworld.

1S.-attacks are difficult and are only successful lf the attacker knows something about
the shopper
a) Snooping b) Guessing passwords c) Spoofing d) Sniffing

16. A produces a signature for the document.
a) Key generation algorithm b) Signature verifying algorithm c) Signing algorithm d)

Authentication
17 . The full form of malware ls_

a) [Valfunctioned software b) N/ultipurpose software c) lValicious software d) IMalfunctioning of
security

'18 The lrAct 2000 applies to offences or contraventions committed_
a) Within and outside lndia b) Only within lndia c)Anywhere in lndia except J&K d) Through

lndian servers
'19. Data leakage is popularly known as_

a) Data theft b) Data crack c) Low and slow data theft d) Slow data theft
20. section 66F of lT act deals with _

a) Cyber stalking b) Email bomning c) Child pronography d) Cyber terrorism
21. The practing of making a transmission appears to come from an authorized user

a) Hacking b) Spoofing c) Spamming d) Spamdexing
22. Assessing Computer without prior authorization is a cyber crime that comes under

a) Section 65 b) Section 66 c) Section 68 d) Section 70
23 _ is an example of physical hacking

a) Remote unauthorised access b) lnserting malware loaded USB to a system c) SeL
injection on SQL vulnerable site d) DDos (Distributed Denial of service) attack

24. Digilial Signature consist of _ many alogrithm
a) 2b) sc)ad)5

25 _ is considered as the first hacker's conference
a) oSCoN b) DEVON c) DEFCoN d) SECTTON

26 

- 

is the maximum penalty for damage to computer, computer system
a) Rs. 50 lakh b) Rs. 1 crore c) Rs. 5 crore d) 5 lakh

27' while trademark provides unique identity to a product, domain names can be calleda) lP Address b) DNS c) as internet resource locators d) Digital address
28. An indireact from of surveillance is _

a) Honey pot b) Logical c) Security d) lntrusion
29' A- can be a hardware device or a software program that filters all the packets of data thatcomes through a network, the internet, etc.

a) Firewall b)Antivirus c) IMalware d) Cookies
30. we use the transit time and the response time to measure a network,s

a) Reliability b) performance c) Longevity d) Security



Q2. Answer any One out of Three
a) List down types of E Commerce Contract.Cite with Examples-

b) Analyse Security Risk associated with E Commerce Websites.

c) Categorise Netwok Security Protection.

Q3. Answer any One out of Three
a) Distinguish between Symmetric & Asymmetric Key Encryption

b) ldentify the greatest threat to the security of lMobile Device.

c) What are the Features Secure Electronic Transaction?

Q4. Answer any One out of Three
a) Summarize Software PiracY.

b) Critically Analyse Cyber Defamtion Support your answer with Examples

c) Elaborate on ldentitY Theft.

(7.5 Marks)

(7.5 Marks)

(7.5 Marks)

(7.5 Marks)Q5
a)

b)

c)

Answer any One out of Three
lnterpret different offenses under lT Act 2000.

Distinguish between cyber Space & Cyber Security

Can you trace Some one from lP ?
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WEB DEVELOPMENT

Q I . Choose thc correct option: 30 M

I . What is the number of layers in the O Sl mode i (2 layers, 4 laycrs, 7 layers, 9 ltiycrs)

2. Identifythe layer which provides seruicc to theuser. (Session layer, Application
Layer, Prcscntation Layer, Physical Layer)

3. Identify among the following which is mainly used to host web site. (Mail sorver,

Webseryer, Database server, None)
4. What layer in the TCP/[P stack is ecluivalent to tl-ie'ltansport letyer of the OSI tnoclel.

(Application, Host-to-Host, Internet, Network Access)

5. Whichoftl-refollowingisprivatelPaddress?(12.0.0.1, 168.112.19.39,1'72.15.11.36,
192.168.24.43)

(r. Sclcct l'ronr the following which command is used to operate TCIP/IP rolrting table.

(show ip rotite, rolrte, ipconfig, traceroute)
1. Network lziyer firewall works as a _ - (Frame filter, Packet lrrlter, Clontcnt I-ilter,

viltrs filtcr)
8. A proxy f iro,vall filters at _(Physical layer, Data link layer, Neti,vork layer,

application layer)
9. ln wliich of the lbllowing, el persolt is constantly followec1/chased by ariother person

orul'oup of several peoples? (Phishing, IJulling, Stalking, Ideritifythcl't)
10. Which of the fbllowing usually obscn,e cach activity on the internct of the victinr,

g.ither al1 infbrntation in the background, and send it to someone e1se. (Malware,

Spywatrc, Adware, Virus)
ll. A comn-runiczrtion is said tobe insecure rvhere datais transrnitted in a ntantrer thzrt

allorvs for intcrception also called _ (attack, sniffing, ISP, citation)
12. H ow to definc a fnnction in PHP / (f unctionName(paramcters) [tunction bocly ] ,

fnnction {functionbody}, function functionName(parameters) {functionbocly}, data

typc functionName(parametcrs) { function body } )
li. Who is the fathcr ol'PHP? (Drek Kolkevi, Rasmus Lcrclorl', \Villam Makepiccc, List

Ilare ly)
14. Which is the rigirt rvay of clcclaring a var-iable in PHP? ( $3he1lo, $_hel1o, $ithis,

$5 l-tello)
15. Which ol'thc following PHP furictions carl be used for generating uniclue icls'/ (md50,

Lrniqueici0, mdid0, id0 )
l(r. A timction in PHP r,vhicl'r stafls u,ith_ (double unclcrscore) is knowtr .is __-.

(DefuLrlt F-unction, User Defined Function, Inbuilt Function, Magic f"r"uiction)

17. Indcxof an array by defatiltstafls with which of thc fbllorving in PHP? 0, -1, 1,2)

18. I{ow clur \vc select an clement with a specific Class in CSS'/ (#, ., ^, $)
19. l-he CSS proper-ty used to specify thetransparency of zrn element is'/ (opacity,

r isibility. filtr'r'. trunspalent)
20. Thc property in CSS used to change the text color o1'atr elet.t-tct-tt it _ (bgcobr.

co1or, backgrouncl-color, bg-color).
21. The HTML. attribute nsed to define the intemal stylesl-rcet is _ (<style>, stylc,

<link>, <script>)
22. Which of thc fbllou,ing is not the propcfly of the CSS box nrodel'/ (mzirgin, color,

width, height)
23. Which of the following CSS Property sets the stacking order of positioned elcments'/

(y-index, z-indcx, x-index, not a property)
24.'7'he pcople whenweave multimedia into meaningful tapestries are callecl (

Progranrrlcrs, Multimcdia develolrers, Software engincers, I-larclwarc cngincers)



2,5. Ib rcceive signal, a translator is needecl to decode signal and cncodc it zrgain at a (
IIigh qLrality, Lowcr qr-rality, Same cluality, Bad qLrality)

26- What keyword is uscd to check whether a given propefty is valicl or not _- (i1, is ip,
not iu, exists)

21 - What do yoti add to a template in order to control where page content goes? ('fext
Frames, HTML Controllers, Editable Regions, Page Content Contrgllers)

28. Wl-rcn you create a "rccipient" hiddcn field for a form, whicli of the fbllowilg is the
ONLY corect way to type the word "rccipient?" (Recipient, <rccipicnt></recipient>,
rccipient, RtrCI PIEI\f 'f)

29. What is a CMS in web design (Clontent Manasemcnt System, Creative
Management Systern, Content Mixing System, Creatives Malagcrial Systern

30. To make your website mobiic friendly, yolr canmake yourwebiite (Re.sp6nsive.
I{eactive, Fast Loading" Light)

Q2 Answcr briefly: l0 IVI

Ilxplain TCP/lP protocol in detail/
what is intemet'/ trxplain significarice and limitations of intemet?

OR

Q5. Answer briefly

Q3 A r)s\\ L'r'bricl'ly

l. Ijxplain the concept of Firewall in detlil?
2. what is arsymmctric cryptography exprain with an exampie?

Q4. A rrsw.'r briefly

I . Erlrlairr clifl-crcrrr rypes of operarors irr pHp,/
2. Explain different types of cascacling style shects?

OR

I
2

I3xplain l}rail Protocol in detail?

Q6. Writc shoft notes (Any two):

l. lrxplain clif fb.t-.nt T'ypes olnc,twork
2. Impact of internet on security
3. Dif f erence between web designer and web developers4. Adobe Dreamweaver

1.

2.

l0 lvl

l0M

l0M

why -lavascript is uscd as scripting language and also variable dcclaratio, in.larrascript?

10M
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